
Year 7 Entrance Tests 

 

Verbal Reasoning sample questions 



Example 1 

Fill in the crossword so that all the missing words are included. 

THE 

ASH 

TEE 

BAT 

BUT 

 

Example 2 

In each question below, write one letter in each box to complete four new words. The same letter must 

be used in both boxes. 

 

   (a)   

   (b) 

   (c)   

 

Example 3 

A die has 6 faces. Each face has a different number on it between 1 and 6. 1 is opposite 6 and 3 is           

opposite 5. 

If these statements are true, only one of the sentences below must be true. Which one? 

Tick the box next to it. 

 

 

 

 

 

 

Example 4 

Underline the two words which must change places to make the sentence sensible. 

 

He ball the hit very hard. 

 Answers:
Q1: BUT        Q2: A) T         Q3: 4 is opposite 2        Q4: ball, hit.
       ASH                B) L
       TEE                 C) T

 U  

 S  

 E  

MEA  ABLE SI  OP 

DRIL  ABEL CEL  ORRY 

BEA  RAIN I  INY 

The total of all the numbers on the die is 22 

4 is opposite 2 

If you roll the die it will land on 6 more times than any other numbers 
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